WELCOME TO

BIGINETRADING

Experience the Best Investment Ecosystem!



ABOUT US

Big one Trading offers instant trading exchange services, enabling users to easily access and trade a variety of digital currencies. Our focus is on ensuring secure and efficient transactions, making the investment process in cryptocurrencies straightforward for individuals.

Big one Trading decade-long commitment to technology and its robust network of liquidity partners allows the company to provide competitive spreads across diverse market conditions, enhancing the trading experience for its clients.

We prioritize the swift and accurate execution of your trades while adhering to a stringent regulatory framework. Our commitment to transparency ensures that all trading activities are closely monitored, guaranteeing a fair environment without selective trade acceptance or manipulation of prices and execution speeds.

EXPLORE BIG ONE TRADING SERVICE

Auto Trading 24/7

Make the most of our platform to capitalize on every market opportunity with confidence and efficiency; we're always prepared to support your strategic initiatives and help you stay ahead of the competition.

Secure and Safe

Crypto leverages extensive industry experience to provide a highly secure digital asset exchange, offering users a robust suite of advanced tools, including on-chain custody solutions, to enhance the safety and management of their digital assets.

Interface

To organize my workspace effectively, I would begin by creating a layout that prioritizes commonly used tools and resources, ensuring easy accessibility.

Smart Trading

To enhance your workspace organization, consider grouping similar items together, utilizing vertical storage solutions to free up desk space, and implementing a labeling system for easy identification.

CEO MASSAGE

Aron Stonis, is a serial entrepreneur with an impressive track record of successful startups. He launched Binance in July 2017 and, within 180 days, grew Binance into the largest digital asset exchange in the world by trading volume. Jutikhg Alex'leads business, marketing, and brànding strategy at Binance. Yi has led the business strategy behind Binance's growth to become the world's largest crypto exchange- having pivoted the company from just a crypto- to- crypto trading platform to a global blockchain ecosystem



Co-Founder & Former CEO (Aron Stonis)



Co-Founder (Jutikha Alex)

OUR EXPERT TRADERS

This is the tree experts of our company who makes us a guaranteed income till the long term



Peter Jackson



Jonas KahnWald



Kevin Russell



Majorly Focused Properties in Real Estate

Commercial real estate is often considered the most profitable type of real estate investment because it can provide a steady income flow, high cash potential, and low vacancy rates. Commercial properties include:

- * Office spaces
- * Industrial properties
- * Multi-family buildings
- * Hospitality projects

JOINING AMOUNT

And above Multiple of \$10

BIGONE TRADING

DIRECT INCOME 2007 200

TRADING INCOME

Of Joining Amount

APPROX 2% DAILY MONDAY TO FRIDAY



LEVEL INCOME

LEVEL	INCOME
LEVEL 1	15%
LEVEL 2	15%
LEVEL 3	15%
LEVEL 4	15%
LEVEL 5	15%
LEVEL 6	15%

TEAM TRADE PROFIT INCOME

90% IN LEVEL DISTRIBUTION 10% GOES IN POOL INCOME



UPTO 20 WEEK

POOL INCOME

YOU GET 2X OF YOUR PACKAGE

	Beginner	100\$	1000\$	10\$ WEEKLY
Max	Trader	250\$	5000\$	25\$ WEEKLY
Experts	Trader	500\$	10000\$	50\$ WEEKLY
Pro	Trader	1000\$	25000\$	100\$ WEEKLY
Master	Trader	1500\$	50000\$	150\$ WEEKLY
		2000\$	100000\$	200\$ WEEKLY

SELF ID

TEAM BUSINESS

ROADMAP TO BILLIONER IN BIGONE TRADING

Example: If You and your team deposit 1000\$ then how much you can earn Daily Or Weekly

INVEST	DAILY PROFIT	LEVEL
1000\$	20\$	3\$

Daily Profit X Days	Total Weekly X Team	Weekly Profit
3\$ X 5	15\$ X 5	75\$
3\$ X 5	15\$ X 25	375\$
3\$ X 5	15\$ X 125	1875\$
3\$ X 5	15\$ X 625	9375\$
3\$ X 5	15\$ X 3125	46875\$
3\$ X 5	15\$ X 15625	234375\$

You can earn millions of USDT every week

BASIC INFORMATION

- Minimum Deposit 20\$ and above multiple of 10\$
- Withdrawal Min 10\$ and Above multiple of 10\$
- Deposit & Withdrawal currency USDT BEP-20
- Withdrawal 50% Comes In Your Account / Wallet
 Reinvest 50% goes in trading profit
- Reinvest Will Increase package and Direct income Is not valid for reinvest amount
- Every 12Hrs. You need to claim your daily profit
- After investment the trading will be start immediately, So that you can have profit ASAP
- 24X7 Customer support on what's app





START CAREER WITH US

TS1GONE TRADING

Get In Touch With Us

<u>www. bigonetrading.com</u>

Q

